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General English
Section Id : 264490605
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449018423 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449018424 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449018425 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449018426 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449018427 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449018428 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449018429 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449018430 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449018431 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449018432 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449018433 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449018434 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449018435 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449018436 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449018437 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449018438 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449018439 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449018440 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449018441 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449018442 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449018443 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449018444 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

12/109



7/14/22, 4:15 PM

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449018445 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449018446 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449018447 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449018448 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490606
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449018449 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
PBETIS & Blarid oD ITASS Horr SARTNG?
Options :
March 6
S0, 6

January 14
S8R0, 14

September 8
3 % PROR%, 8

November 11
om0, 11
vy
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Question Number : 27 Question Id : 26449018450 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a
20655¢5 038
Options :

Network
| % w5 JEIG)

Network of Networks
RTS8 ) G008, B8,
(=g (-2 T

Software
2.8 %Q‘EEE

Server
.8 J[58
[« 5

Question Number : 28 Question Id : 26449018451 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’'s capital shifted from Calcutta to Delhi?
PBETIH Toaerd & JoIE)808® Sosmriod D8 IS pkoh?

Options :
| % 1935
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5 % 1900

L, 1911

4 % 1929

Question Number : 29 Question Id : 26449018452 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MOOC stands for
MOOC &30 628 Sodn8rsSo

Options :
Mobile Open and Online Course

m@ﬁ '!r.‘ua.r5 E:'_--Ow EWHN?E

1. %
Massive Open Online Course
TS A8 olBS 5

2.
Media-based Open Online Course
H&ce TD LT «F88 5°5

3. % - .
Machine-based Open Online Course
DT BJ T @ 5°5

4, %
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Question Number : 30 Question Id : 26449018453 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo's abdominal pouch is known as

Sorrdh 20y ToE) Soderod i’mg P SRS Ter Beid
Options :
Placenta Pouch
RRoEF Jod

Guttural Pouch
, w HeEdS Jod

Marsupium
3 @ ENvlerSvulevsla)
Synovial Membrane
L% RTINS TS

Question Number : 31 Question Id : 26449018454 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.

<2 o i R e A ] 3 = g T i
8.000. 3-JEH $owododd el TR wa 8D TRG 12 Dok Q) TID
o

Dotndol

Options :
120
1. %
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, » 200

140

3. %

L« 150

Question Number : 32 Question Id : 26449018455 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of
S0orPond® oY SweTto 5 Ty RoEndon?
Options :
King George
v caeiniEle)

Lord Mountbatten
@vg_ ST08) el

Queen Elizabeth
SDEDE oo

Lord Macaulay
=8 Z=T

Question Number : 33 Question Id : 26449018456 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Origin of Species’ was authored by
"l ef W nRR” (ol 8.
Options :
Charles Dickens
=8R G38)

Charles Darwin
T8N oS

Charles Babbage
0% ePIE
3. &

Charles Lamb
4 % P8R P08

Question Number : 34 Question Id : 26449018457 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
EENE $I6° &S wolfYS 5DN0DE 3PO8-19 & oo8ngrEId 388 -

Options :
SARS-CoV-2
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SARS-Covid19-2

2. ®

Cov-SARS-1
3. %

SARS-Covi-D2

4, %

Question Number : 35 Question Id : 26449018458 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927
1992¢° £28 ey POFBore @8 TEPY) FoLITEH?
Options :
Dadasaheb Phalke
| g TR e 8,
Satyajit Ray
, v P88

Aparna Sen

ol RS
3. kS (=

Rituparno Ghosh

. » Be0sst) 558
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Question Number : 36 Question Id : 26449018459 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
SoltS 2022 0B aY) Sorrep R DEI.
Options :

w1

Question Number : 37 Question Id : 26449018460 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is considered the inventor of World Wide Web (www)?
98¢ 28 2T (www) ZRBEMP 588 18R 0?7
Options :
Tim Berners-Lee

LSO e
v 85 35)5) O

Bill Gates
ﬁﬁﬁeﬁﬁ:

Larry Page
o= Tied
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Jimmy Wales
20 IS
-3

Tl

4, #

Question Number : 38 Question Id : 26449018461 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
ol F& &I Sio LIS Jowosool.
Options :
Lawn Tennis

- oy
e E3NE
[

1. ¢

Billiards
&Dmgz,

Chess
witono

Basket Ball

co )l Sl

Question Number : 39 Question Id : 26449018462 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The Sardar Sarovar Dam is a terminal dam built on the river
& J0PS Vopb IS8 oy Aosndod.
Options :
Sutlej

&8s
.

Ganga
Hore

Narmada
eét‘ﬁécﬁ

Brahmaputra
@IRE

Question Number : 40 Question Id : 26449018463 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 2022'7
‘BT 2022’ @) (Berarodo HE?
Options :

Covid and Planet

| x 508 S0a» (o
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No to Pollution
5 % SPendp BRSO
Sustainable Living

I o :
S850858 &0
-t L.

Invest in our Planet
0% (oS Depnd

4.

Teaching Aptitude
Section Id : 264490607
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449018464 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a

ISP @olod ol 818 10 - &IV DL,
|+, et

Options :
supportive classroom climate
L@ SONENG srErRterld L—’AZ‘}; DEE
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good learning environment
) % S00of) BTV OLCDTER
activity-based classroom
;3 % SPURU0R orrld S0E RO

joyful learning experiences

B5080MP TENDoLNTNN LT
4. % = S

Question Number : 42 Question Id : 26449018465 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the

school is

FEosD ol BEPERoN & &wﬁa&é Roz0Hols Doy HanReD E58 52

TR 3E8 wirgroned® 59 *om%‘ss’:um?&n & DB B3 IBAT o

(2% [=8 e =
Options :
Upward Communication

B o

&wééw B0 B3 Eots)

Downward Communication

éﬁ:éé&ﬁ g0 &JS"’E

Horizontal Communication

™ &atﬁmﬂc BoG aa‘mn”ﬁsﬁi
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Grapevine Communication

05328 55 058T
4. % .

Question Number : 43 Question Id : 26449018466 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
EQmoe &8 58 Emn;tiéa:éé 08D ©ESn PolS BEPTRIEN’ ©AROHBoERED.
Options :
awarding good marks
008 Artnen vato Toe

handling special classes
(BFEDS S8HSeD THLko T

2. % o = £ -

helping them solve their problems

v DTS DRVRORD ”‘“‘*uc:uct-,'ocﬁ‘“ RFCnRGEL0 TPTE

3. ¥ &

giving learning materials

oRrds Yonofoli &Rl santo roe

Question Number : 44 Question Id : 26449018467 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The best way to maintain discipline in the class is to deal with the studentis
DTSHen oD (EDHE5nS somreod wirgruing 08 PILoTDRD wEd
v}

Jrgo -
Options :
affectionately
L% BERICDHOTP BOKL0
strictly and friendly
PLBOMPIR O ) IFIPOSOMPIF Roto

L=

strictly and authoritatively
PN Sorrar oldn ©LPLE0TIr Bolio

politely, but firmly

v SNTUTL, cﬁ;gﬁom;&r EriE aolito
4.

Question Number : 45 Question Id : 26449018468 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
SEIE° es0eS wodo -
Options :
Teacher's Knowledge in the subject

ety ﬁ;{:ﬁxa} DB0H é@@éo
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Teacher-Student Relationship
DERERIOIN0E $m5g§ sotrie Somogo
2. ¢ '

Teaching Techniques

. G568 edwoos Beieben
3.

Technological Aids for Teaching
US55 D@ rN0D oS HESTReD
4. %

Question Number : 46 Question Id : 26449018469 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by
RDNTH0STI SBHBM0 TEesery) Jptodl -
t &
Options :
lively student-teacher interactions
Dren - SRS 08 I8 B0 B0l SIFEESETN S8
1. \‘.? L= - = 5] ™y s -
advanced technological gadgets
, % OOTSIPN FOTBE HoZToen

pin-drop silence in the class
SEBHLEY Ve ;eSS0

1=

3. %
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high-cost infrastructure

, €8 ST STOS Jhardiren
4.

Question Number : 47 Question Id : 26449018470 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should

JEPT B BITHOND B wd wIrTE IR TTYH0E T8 -

&,

Options :
control the class effectively
SENBIAR HhgHodorr & OHHS® sonsTd.

correct the test papers and assignments strictly
&mﬁ"fﬁ,& 22aee S(FPe SEJOMP uPerRoSto Slovvil 3]

handle the classes humorously

. ausnsnad r“'ﬁp:" CdEorr LEiroTd.
3. >

motivate the students to learn

L “‘mﬁ*rie:““ "50\5’&*‘-' (0D0d.

Question Number : 48 Question Id : 26449018471 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The primary purpose of punishing a student is to

DO 8Zottos® (ZrEE vido DHeod

Options :

Question Number : 49 Question Id : 26449018472 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
Foodo DD/CHP DTBoen B8R 5306EE FPonIHE BEGoMEs Do BATD?

show the teacher’'s authority
BEPEROine) 85 efseoed) (@ Sjlelalate

correct the offender

- -
Q8 Lgrao EOAS &

o
5
A
o
o

[:lak
&9
(N

threaten the other students
T Te! a:ﬂaﬁguzﬁa BAoooSEREd

enforce discipline in the class
SERBROE° B85 wiben Dabeeds

Options :

1. %

make his or her teaching more interesting
o008 ©ld S8orr T3S TARD
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teach with real life examples
FEDE £2805%9 srrdrbnw D

attempt to find out the reason for lack of interest
DTS 8t TIPS oo HEoTD
b

teach with stories and songs

, » 580 oroe, Soonroe 55655 Do

Question Number : 50 Question Id : 26449018473 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from
a8 BEPTInd DRErEY) dov SPLomrd, TRES® Jor HHFloTD OF &g
Do HE Hod FENB B
Options :

Students

T e, i E
Slepyevltalal
o)

1.¢

Fellow Teachers
D3 BErEoine ol

Senior Teachers
SHS GarPEEdine ot
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Principals

r @RS ool

Geography
Section Id : 264490608
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 35
Section Marks : 35
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449018474 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which place of India, there is very Little difference between day and night

temperatures
PEEET0ED D (HBIoLt
@0 woenol?
f= =3
Options :
Bihar
1555

£

1. %

Bangalore

) % BonErd

Srfen H00n To@ edP(ide S e S50
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Thiruvananthapuram

s v BOBTOSHBO

All of the above

=
o) oot
4. % = b

Question Number : 52 Question Id : 26449018475 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which state has the maximum deposits of manganese?

Srorido JSren WD SOAS Togo DA?

Madhya Pradesh

Cly

| o DD

Gujarat

5 % (D230°8

Meghalaya

4w SDEPeCD

Question Number : 53 Question Id : 26449018476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which River flows in the Chotanagpur region around the coal deposit zone?

FerTiidrd (Frodod® al T 8D (Frodo e (BHiroT 30 287
Options :

River Son
1. & PR 6

River Damodar
, ¢ TEREE {0

River Narmada
3 % a’tﬁéﬁi T
Mahanadi
4. # .':.{1353'5?@5

Question Number : 54 Question Id : 26449018477 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The largest physiographic unit in India is
PEETI0E® 08E JI0E ErS (HErn P J6?
Options :
Indo — Gangetic plains

| % (0P - OGP FoTeRa0eD
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Peninsular plateau

£t ™, 5 A T e
) whmg'?.am; ﬁjfj:.q.d.- ol

Himalayas

3 % olPaPe0Ren

Islands

Eonvh Lanman (E e
L% rRawe (Lyen)

Question Number : 55 Question Id : 26449018478 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which industry is the second largest provider of employment after agriculture?

SpRarahBorio Shars wirnd 0107 Bols o8 g JoFD d&?

Options :
Iron and Steel industry

B0 -wEY) Bo(Ew

Sugar industry

L % BOSES HOEH

Cotton - textile industry

\ o SPe0-Sg BOFD
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Petrochemical industry

4w DI SWES HoED

Question Number : 56 Question Id : 26449018479 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Trisul' is the Himalayan mountain peak located in
BErS o rarech K58 dpdo I5E uHL?
Options :
Nepal Himalayas

— -
« ®ard Sriredirzen

Kumaon Himalayas

) v DArET SRdrodire

Punjab Himalayas

3 % DOXPL SPIFOATELD

Assam Himalayas

L% hvgle FOL PRSI GVILIhY)

Question Number : 57 Question Id : 26449018480 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What three factors are called “Trio of Davis'?

O Hrh e Bar oF GIF o HPHFoFH?
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Options :
structure. process and time

v Qo=eeo, [BIEch Docin w0

Land. flood. and air

, % RO, H6E DHOGH ™

Process. erosion. and flood

s % BB, 58 oaD S5

Erosion. earth and cycle

L% 58, gD Hoak Sgo

Question Number : 58 Question Id : 26449018481 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the highest volcanic mountain of the world?
(BHoted® &Y eMdS Eso J?
=] =] -8
Options :
Fuziyvama

% QECTER

Helens

=

E\
) ® -:‘-..-"":'Elrx.,lm;I
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Cotopaxi

S S A
3\.‘?"? D&Jéﬂuﬂ

Kilavea

4 % 300im

Question Number : 59 Question Id : 26449018482 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to Wegner. in which period Pangaea was formed when the landmasses were
united together

IS (HoBo & w0’ ¢E werren SO sRDPd RINCE 28)80h?

o
Options :
Cretaceous period

Triassic

3 % EWFRE oo

Devonian

, x BSRANS oo
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Question Number : 60 Question Id : 26449018483 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are Sial. Sima and Nife?

ORD adné?

I
=

=] L = N Sy &
dire, e anldin D

+

Options :
Ocean beds

BA
U,

L% Ran|esy Hsen

layers of earth

) @ G PO

Rock surfaces

3 % T8 nidléeren

Atmospheric lavers

4 & TTROH PO

Question Number : 61 Question Id : 26449018484 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Normal cycle of erosion is associated with
ey (Rrerdes) Bgod S0 GR8 So0500:567

Options :
Glacial erosion

eRRTRNG (B3 Bco
1. % =
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River erosion

, o 36 B govo

Wind erosion
3 % DR (B Fabo

Desert erosion

e
4% el (B Eaho

Question Number : 62 Question Id : 26449018485 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which rock system is the most ancient metamorphosed sedimentary system in India?
PBETI0ED D Ber Y vod oS Srdrodt elEhn %7
L

Options :
Vindhyan rocks

Eocﬁ; e
Cuddapah rocks.
) u 380 dow
Dharwar rocks

o0 deen
3.0 P0G
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Deccan trap

L % BES g0

Question Number : 63 Question Id : 26449018486 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which atmospheric layer contains ions and helps in wireless communication 7

D eSS B8 PR 5DNgol FBR SN TBEED S aShthdol?

o
Options :
Mesosphere

| % SOR® eHdeo

Thermosphere
58% @580
2. ¢ i
Troposphere
; x O w50

Stratosphere

L @:éﬁ* 8955000

Question Number : 64 Question Id : 26449018487 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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In Koppen climatic classification. ‘Af * represents

TR 5 s %@ﬁ*ﬂ 28 aﬁ@éém@ﬁ ‘Af? BOD Srdo5Hs
n- & {

Options :
Monsoon climate

o0 dSD dat £28

Tropical steppe climate

. OO (@rod &) %55‘“%’*5@

Humid tropical climate

OB oI (Fross 255528
3. o

Humid cold climate

3] 5 ,ﬁ LS &
L% '&qlg SE0 Lgsﬁg?ﬁ

Question Number : 65 Question Id : 26449018488 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Psychrometer 1s used for measuring what?
REDOTD T Fosoedl AEFATRE?

Options :
Temperature

&P s

1. %
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Ocean Salinity

Q3w @833 ahE

Pressure belts

&

Sheesh

W
®
E’E‘I
h

Humidity

B {@[gé}
4. ¢

Question Number : 66 Question Id : 26449018489 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many Ocean trenches are found in the world?

(SHodaedorr Jan(EH Sodsren Q08D Sfran?
el [=9 (=

Options :

w1

.
). @ 26

18

Question Number : 67 Question Id : 26449018490 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Anticyclones are more conunon in the

$8 JEarsow Jrprdeore P S8 87
Options :
Equatorial region

% g0 (Srodod’

Sub-tropical high pressure belts
- 63 ©ahs D @05HES Hpodt

Temperate region

L B 88 @rodos®

Sub-tropical low pressure belts

L% &% BeHS Ber e diEs DHpod®

Question Number : 68 Question Id : 26449018491 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Deserts with a pebble surface are called 7
roestron SICIeod &) JEPON LotRE:?
Options :
Draas
% =g
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Barchans

L x TR

Regs

o O

Ergs

=
4 % ¥a)

Question Number : 69 Question Id : 26449018492 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was considered to be the father of modern Human geography?
GRS SPIS PACY 08 BEenTHAT AHCY DCHBRTHD
Options :

Friedrich Ratzel

o (PECE oo8S

Huntington

, w roLofied

Albert Demangeon

3 % @@ﬁg GamoschR
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Johnston

PORS
4. ® o

Question Number : 70 Question Id : 26449018493 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bushmen belong to which race?

-

WRIV & 8 TolLReEs?
Options :
egroid

2

Siiton

flﬁ‘

1.¢
Caucasoid
, x SeSronE

Mangoloid

3 % SoolPerond

Nordic

d
oo
un

Question Number : 71 Question Id : 26449018494 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the largest tribal group in India?

PSS TI0® v %’: Alan Reorde a&?
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Options :
Oran

Santhal

; % TOES

Gond

4 o 008

Question Number : 72 Question Id : 26449018495 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which theory states that humans have the freedom to choose the possibilities
within the limits of nature?

E58 HoWBS° a) vITToD J0FD ) SrSHis wotd & drpodo
*. =
Tayeol?
Options :
Detenmninism
B o T o
L% GeC)Raedh
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Neo-Determini s

Question Number : 73 Question Id : 26449018496 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the largest tributary of the river Indus?
EaleTabpmtals ©&ENY wd0 o&?
Options :

Jhelum

50/109



7/14/22, 4:15 PM

Beas

4 x DOTS

Question Number : 74 Question Id : 26449018497 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What was the basis for the division of the world into cultural realm by Boak and Webb?
&8 Hocsw 3T ooe (EDomeRy %o}’&;@é orarorr S¢Eotnls errdo add?

Options :
Caste

| & @0

Wealth

, % BOBE

Religion

Language

4. % :Fgl

Question Number : 75 Question Id : 26449018498 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who proposed least cost theory for industrial location?

O(Z0E (Erod ANBS® 51 o RrromeR) IS0 (BEFCoE?
= =

-
=
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Options :
August Losch

- @ﬁ% @E;

Alfred Weber

- oSt In0

Sargant Florence

o, = EE
3 % OO 550

Leon Moses

, % OGFES ZFED

Question Number : 76 Question Id : 26449018499 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Wild life’ is an example for which type of resource ?
35y (EPe0en @ BEDN IS arerSe?
Options :

Non — renewable resource

R0

£

v B (R DabED

Renewable resource

L D QR Badrie 558
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Recyclable resource

f

8O0 [R/oLoH I

nEo

3. %

Inexhaustible resource

4 % SBN PR S5

Question Number : 77 Question Id : 26449018500 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who has made the resource classification based on distribution. amount and frequency

of occurrence?

i,

S35 DEB, HCEFm0 HNOAH JCIE TFHH 68D wrdorr BT S5

5E550 IS TOTSH?

Options :

Gifford Pinchot

AR HS5S%eS
1. w [

Renner

__._J\'\ -

5 % 9RO

Dasmann

3 % PP

Zimmeriman

2550858
4. v =
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Question Number : 78 Question Id : 26449018501 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which family does tea belong to?
BOD 2 Hewordd Jolod?
Options :

Arabica

Camellia

e D Y 5
) ':""':'....!‘-"‘-""

49

Havea

3 Lo [ovy)

Corchorus

L % s'vc‘.'};jé"rc

Question Number : 79 Question Id : 26449018502 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which country 1s the largest producer of coal?

[ o e e L =
Dm GOdo ob?

@& 050 UM o
(=3 ) Ol

e

Options :

54/109



7/14/22, 4:15 PM

Ukraine

% =~ l[Slevs)

Russia

6#5

Question Number : 80 Question Id : 26449018503 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The younger alluvium in the Ganga plains is called as
rforre PEESoS™Y S coltd HEJ 2D LOTEH?
Options :

Bhangar

1. ® 20nd

Kankar

2. & 5055
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Khadar
3w TE6

Terai

4 % BSO°0W

Question Number : 81 Question Id : 26449018504 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

G. Tournachon (alias Nadar) took photographs of a city from his balloon. This marked
the beginning of remote sensing. Which city was it?
SPHTFR oint TE6 85 Bors Hod 8 Siito @wE) FAr diEgru .

n?

-
et

gr

C3rel DR el Bl 7ol BDSol. & Jiido

Options :
London

| ® O8I

New York

3. @
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Question Number : 82 Question Id : 26449018505 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following is NOT a Sun-synchronous satellite?

Bo0mr8E® KT -20B%30 FOHTE =020 HB?
Options :
NOVA

lﬁﬁs’aﬂ

SKYLAB

2333{_@:3

LANDSAT

@505#5

Z

NSAT

4. B

Question Number : 83 Question Id : 26449018506 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The tripods. cranes and towers are the examples of which platforms of remote sensing?

BrGen, ESen 00w &5 03 2R)oRDH $o0w05ods & FLrHOD
erESeed?
Options :
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Terrestrial platform

BEREOS 0

Airborne platform

Qon8SP8T peiFro

Spaceborne platform

=
l.'\.u'
Dt

RIS PeTFro

Oceanborne Platforim

LABSE S0

Question Number : 84 Question Id : 26449018507 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which subject integrates different disciplines dealing with spatial information ?

088 ISrros® & "SEP00D DY DrErros: & O¥cHo E?J%%éﬁo S0k ?

Options :
Geoinformatics
20> 2555E8)
1.
Geology
- ~ = v
GrigTEe
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Geomorphology

EETarTTOS
3. S -

Geography

L w rrem8o

Question Number : 85 Question Id : 26449018508 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Himalayan rivers have the drainage pattern of

SParodired® (HaHirodh Sther @ QTR Hlarde Jswrae 50N Sd?

Options :
Consequent

IR e

Trellis

3 tPerond B0=Fo

Radial
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History
Section Id : 264490609
Section Number : 5
Mandatory or Optional : Mandatory
Number of Questions : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 86 Question Id : 26449018509 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lothal, the main port city of the Indus Valley people is in which state?
Dosr (Hue (Dol L8385 D0 S & D'--%oé':“ 2087
Options :
Gujarat

| @ oS

Maharashtra

S0P

[\
&
625

Punjab

3 % @o=d

Rajasthan

foadetouds)
4. % 2l

60/109



7/14/22, 4:15 PM

Question Number : 87 Question Id : 26449018510 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which Indus Valley place the remains of a horse were found?
Dolr THBEEE® Do eiTsren oY ER (Frodo 28 ?

Options :
Surkotada

L
S ol
1.¢ &

Lothal
2. ® Sed

Chanhudaro

3 % S5 5o

Banawali

4 x DD

Question Number : 88 Question Id : 26449018511 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Capital of Magadha was shifted from Rajgriha to

o oregeR oeairfiro Ko % Srwbod.
Options :
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Pataliputra

| SOOI

Ujjaini

Szzond)
2. W 5]

Varanasi

o

3 % Cupdeamats

Kannauj

Question Number : 89 Question Id : 26449018512 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following dynasty holds the basic features of bilingual & biscript coins ?
BobarS® O Tradodo Brgrar LB B10h Tre Gog) (BFEYE ofros KON Bod?

Options :
Indo-greeks
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Pratihara

|y B8R

Cholas
Lo

Question Number : 90 Question Id : 26449018513 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following is known for his work on medicine during Gupta period?

BoBares® Hge swod® o =y DD (328 ToboBSK?

Options :
Chanakya

% el iy
Nagarjuna

m*r‘r*égﬁ:é;

Charaka

nteloblab)

Sushruta

HESH S
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Question Number : 91 Question Id : 26449018514 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who wrote the book Arthashastra 7

widTdo ol (HogeR) 5LolRBHD?
o] =

Options :
Kalhana
- Berotd
1.®8 =
Vishakadathudu
5 % DTPHHSND
Charaka
] == lach
3. %
Chanakya
i
L a*ea\_.:-mcﬁj

Question Number : 92 Question Id : 26449018515 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

|dentify the dynasty to which Queen Rudramadevi belonged to?
oBHBHED & crefoE TodRE® HBoPos?
Options :
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Chalukyas of Badami

swadevid-Bo) Ea‘%":}ﬁé bvlelsle)

Pandyas of Madurai

508508 a%--otig So%o

Kakatiyas of Warangal

- S8oiiey s56ah Sodo

Eastern Chalukyas of Vengi
3o &8 ToE0E; Sodo

Question Number : 93 Question Id : 26449018516 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Qutub Minar was built in the memory of which Sufi Saint 7

&S Db D Srh doerd rdTdo DBjowE?

Options :
Nizamoddin Ouli

Qordndba T
1. S [
Moinuddin Chisthi
E}Jbﬁ&;%ﬁ 5%}

2. ®
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Nasiruddin Mahmad

SEslevl: 8

e

D
en
&f\

3. %

Khawaja Qutubuddin

greroge X0z
4.+  * G

Question Number : 94 Question Id : 26449018517 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kumaradevi, a Queen of Govindachandra Gahadavala constructed a Buddhist vihara at
APDod Sol Hrdare oo wond HEFEED TEDF TR 28 Vo=,

Options :
Sarbasti

SES)

Sarnath

Svade ol i)
2.

Nalanda
3 % 0008
Budhagaya
covlafgleny)
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Question Number : 95 Question Id : 26449018518 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following Places was famous for cotton trade in Chola country?
BodardS® 5°Y G708 TobYd d @rodo I aarocRE DR Tokoh?
Options :

Kaveripatanam

- SR80
Nandipura

5 % Rodto
Uraiyur

- -telovoerle]
Tanjore

L % Soeriro

Question Number : 96 Question Id : 26449018519 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When did the Arabs first invaded India?
odmen SEFOT FESTI0R Y Soldir wbard?

Options :
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_» T11AD

,« T14AD

L v T12AD

.« T15AD

Question Number : 97 Question Id : 26449018520 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who founded Somapura Mahavihara, the famous center for education

e

(B350y DT ZolBR ‘WPLDY HFDHFEE’ & 5B rdomdh?
=
Options :

Devapala

| % OSTesd

Dharmapala

- iﬁfﬁé&wn‘fo

Harsha

| % SO
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Vijayasena

4 DEcHHES

Question Number : 98 Question Id : 26449018521 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which language did Babar write his memories called Tuzuk-i-Baburi

‘nr —mn-rond’ ol HHE o 88

£

=P D RET 8Qooei?

9

Options :
Turkish

S
1. v éaa“’a}\
Arabic

, % ©BEE

Mangole
S0 D

Persian

A IV
8.0
4, ® =

Question Number : 99 Question Id : 26449018522 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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During the reign of which Great Mughal was tobacco introduced in India?

—

D oS SEN8 swod® rE G¥os® S @5%&%:&&0&?
Options :
Akbar

o, =
L& @hﬂt}

Jahangir

rotelals)

Shah Jahan

4|

Vg
sreasE

¢

Aurangazeb

TEoiEsn

Question Number : 100 Question Id : 26449018523 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which great Mughal is credited with prohibiting ‘Sati’ unless widow herself of her own free will
persistently desired it?

S8 == T Bo 38 %% DdodhPped £, 288 ddohPoH 8 VnHodS
S00® HEDSE DBS?

Options :
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Akbar

e
1.¢ “ﬁJS

Jahangir

fwd

5 % rotealals]

Shah Jahan

SrEesTo

Aurangazeb

4% TEorEw

Question Number : 101 Question Id : 26449018524 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the Mughal emperor more interested in painting?
DEBY Dy D Bl EX0808 Iohd HIED8 587

Options :
Akbar

o S

Jahangir

S

it

5 o B0
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Shah Jahan

y x 0eRSES

Aurangazeb

4 x BBoKEm

Question Number : 102 Question Id : 26449018525 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who wrote the book “Alhakhand™?
‘E&:{;@;}GE’ flomed) Q5% Bom=th?

Options :
Chand Bhardai

ool oedo

Jag Naik

OHE

4

o x =0
Lalita Prasad Mishra
3 e @”:5%5 |8

Amir Khusrow

L % o8 g
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Question Number : 103 Question Id : 26449018526 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who established the city of Janpur (AD 1359)?
agrd STl IS %;EJDW&? (AD 1359)

Options :
lltumish

200 an

Mahmud

e

ol

[\
®
g\

Feroz Tughlag

$55S s
3.¢

Razia
4 % SR

Question Number : 104 Question Id : 26449018527 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Indian National Congress adopted the resolution of ‘Poorna Swaraj’ at -?
88 oriodh So[fidy Soird Sroraréoyoed)y JH80S® Eo%08?

Options :
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Calcutta

. Xoloe
1. =

Lahore

- ]

Delhi
&8

3. %

Karachi
L % Xo=f)

Question Number : 105 Question Id : 26449018528 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Mappila revolt took placein

é:ﬁ:{:aﬁ S0MIEen a’:oééﬁéoé’ﬁ 28h08.
Options :

L x 1721

, w 1821

L % 1895
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, v 1921

Question Number : 106 Question Id : 26449018529 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which kingdom the Portuguese established their base for the first time?

FFENHD T8 D Treos® FoodyRESFBr S TR0

Options :
Calicut

| x TOZE

Cochin

, v FDS

Daman

Zn

3 % ecauh)
Bijapur

L% o558

Question Number : 107 Question Id : 26449018530 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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‘Education is the manifestation of the perfection already in man’ who said?

‘D ©TB HINS® 2BE &Y HBIEEED VEGK” B IS BaE?

Options :

Swami Vivekananda

L %:_&L Dazehod

Sri Ramakrishna

-

2. % ¢ TN

Chandrasekhar Deb
SolBS3s BS

3. %

Sri Narayana Guru

L% Broeaie %

Question Number : 108 Question Id : 26449018531 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who started a separate Public Works Department in India in the year 18487
18488° 88 B¥0S” BYE &) BFTotT I Fhowth?

Options :
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Lord William Bentinck

=8 Do Tofok

Lord Dalhousie

=0 S
v BT

Lord Wellesley

o8 3y

Question Number : 109 Question Id : 26449018532 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who founded the Indian Reform Association in 18707
1870 &° 208053 855 oD onTo FH0DBH ?

(=)

Options :
Raja Rammohan rai

| % ToF TRORPIRS T°CD

Devendranath Tagore

- GSRoST8 s
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Keshav Chandrasen

3 ¢ B8 So|EDS

Eswara Chandra
. éar‘é;é So|s

4.

Question Number : 110 Question Id : 26449018533 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following indicates heritable property in feudal Society?

Bots €S gheRrKor Skoes

Options :
Fief

=Evale]naleslab

Lord
3. % @ﬁ@
Serf
o eales
4. %

o6® TEIE D @D Srdoid 8?7
e
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Question Number : 111 Question Id : 26449018534 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

With how many followers did Gandhiji start the Dandi Satyagraha against

the British salt taxes?
BER (©H30E 0 DBoLY &P S éﬂ:"ﬁﬁom mobd J08508 efSHes® o
Sog|iisFR ([@FSodomh?
Options :
78
1.v

82

2. %
;% 92

4 % 100

Question Number : 112 Question Id : 26449018535 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

There were movements against the Cathelic Church in many parts of Europe, which movement

became more important?

CorEnS® ©RE [Eromrd” THOE 58\8 S&Blorr ©JE adrdre wbrron. TEE® Swgraod

ﬁﬁﬁ;&o o6?

Options :
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Revival of Learning

88of 838
1%

Protestantism

L v ErEDoand

Rebirth
3. & @Eﬁééé

Revolution

L% D30

Question Number : 113 Question Id : 26449018536 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Boston Tea Party took place after
&°5S & & E5HE wBAoB.

Options :
The governor of Massachusetts refused to allow tea ships to leave the harbor before
unloading their cargoes
oy NS85 £ Trodod $H $EH%es BoB Swolh FoFdire Lo

| D0DBETRE ATEBoS $rs
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3. %

4. %

Question Number : 114 Question Id : 26449018537 Display Question Number : Yes Is Question Mandatory : No Calculator : None

The Dutch East India Company refused to ship tea to the American colonies
55 S Bokdir 2ol T 8L oo Hodbd FohelE & TEu

Lnhéond S8

British officials increased the price of tea by passing the Townshend Acts

28T o/t & S80s DodhdEr Tl ;‘3&;@& é“@ﬁ“%é e blualy)

The Continental Association boycotted tea

~ofTowd oFELDHES =& &9 2R8NS SBoaee

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who wrote an influential pamphlet?
208:78E" (Herdio8DoR S8B(zR) EDoDS TBHE?
Options :

1.

2.

Mirabeau

£

oo

Abbe Sieyes

o) 200
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lean-Paul Marat

. £5 - S - 258

Olympe de Gouges
200 & AR

Question Number : 115 Question Id : 26449018538 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dadabhai Naoroji was elected a Member of British Parliament of which party?

5}‘5\...&&.']_ TPER0LIE) TPIPIPON = SGW"E-" & &0 & “&H‘ r OB ?
o fa] - Fal
[ ] L= L= =4

Options :
Conservative
2585

1. 4 O o

Labour
Liberal
Congress

4 % TO0R
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Civics
Section Id : 264490610
Section Number : 6
Mandatory or Optional : Mandatory
Number of Questions : 15
Section Marks : 15
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 116 Question Id : 26449018539 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Behaviouralism emphasizes
(B8588 a~tso G%&oﬁ&—

Options :
In-depth studies
| % O°B8 eabio
Verifiable facts

e o
mequ:JG E“Ew”:'@

2 o

Normative studies

RO(RNTPCHE @LcDhRN0o
3 % -
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Norms of appropriate behavior

, SOES (HBES Seshes
4, @

Question Number : 117 Question Id : 26449018540 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is attributed to Sir Henry Maine?
& |Bol EE° I8 TRIR DRE srfolnlRN0 07

Options :
Social Contract

WSt =
| % OEel] Eﬂo@:ﬁg

Ancient Law

el dhodl e
2.¢ =

Leviathan

5 % DRAFESI

The Golden Bough

L w aﬁﬁgﬁaa

Question Number : 118 Question Id : 26449018541 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which. among the fnlluwing was not considered as a type of equality by James Bryce
S 8ol ES° B (R BBFRoNN $ErNgio SSore JONBoEEI0 IO
Options :
Legal Equality
wEDOZN Jarano
IR A =
Civil Equality
8 darRgro
2. % =

Political Equaiity

Social Equality

. nl e all -
Frarnl Sdiradro

Question Number : 119 Question Id : 26449018542 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Samata Sainik Dal was formed by
Q08 PRESED %%J::

Options :
Ambedkar

©oBS
LY e
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Gandhi

3%3@

Question Number : 120 Question Id : 26449018543 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

India follows a Parliamentary form of Government taken from which of the following
country’s models?
FEDowl Irrre DRChod® FEETH0 % S0l THS® D TEH Sdweard
wI08E sol?
Options :
Britain
fipn =
L Ln_...-é.:'m

United States of America

L OO Roaog oolapes
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South Africa
&

(s

St

=

1

3. %

France

. &

2N

4.

Question Number : 121 Question Id : 26449018544 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What schedule of the constitution of India contains special provisions

for the administration & control of schedule areas in several states 7
58 Tersorio €°0 & T, ORE TEPed” e (ERomry BOTFOD
$o0ase DoboEn 5% (¥EE dwoFien 50N wok?

Options :
Third

| TGS

Fifth

) o[

Seventh
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Ninth

Question Number : 122 Question Id : 26449018545 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many members of the Constituent Assembly signed the constitution?
TPe 00 oo $008 os Fod Jeipen Treoriop Jodwren BEtd?
Options :
| 300

284

299

Question Number : 123 Question Id : 26449018546 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who settles the disputes regarding the Election of the President of India

o

OS ToFHHE AYNED $o00fodd oD IV HOYORL?

o

Options :
Supreme Court
om0 oDk
L Seltvelsieb
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Election Commission
) % INEL ROoF0o

Parliament

; w FEI0E

None of the above

L RS

Question Number : 124 Question Id : 26449018547 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following three new words were included in the Preamble in 422 Constitutional

Amendment of 19767
1976 o8 42 & Tearort J5506° 208 TSGR O ek Swren ﬁﬁq&éoé‘s
E‘-Egj:m;ow?
Options :
Socialist. Democratic and Republic

*20%, BIREES, 0BP8

Socialist. Secular and Integrity

- 0%, D8yl wodN&
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Socialist. Republic and Secular

PO, OHQS, D8

Question Number : 125 Question Id : 26449018548 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How 11}131113.r national parties were recognised in the first general elections in 19527
1952 €° Froeies wRSen NP AR sp&oD PE Sen rin.,ca:l“cﬁo:a?
Options :

1.336

2. v 14

Question Number : 126 Question Id : 26449018549 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who was the permanent Chairman of the Constituent Assembly?
oreon Y T8 OHen I8
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Options :

Ambedkar

Dr. Rajendra Prasad

Bols (H5
, g TN ol (Barh

B.N. Rao
f.chl.oea

H.C. Mukherjee

Question Number : 127 Question Id : 26449018550 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which among the following factors, does NOT make a caste group donunant?

200rES® HedrHER) sbHHdo TEHY wodo H6?

o

Options :
Population

thurlon

1.

91/109



7/14/22, 4:15 PM

Control over land

, SR Qodolé,s
2.

Ritual status

[t ni eplch %é:lei%

Untouchability

@ﬁ N
4. ¢ -

Question Number : 128 Question Id : 26449018551 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which party Government announced the formation of Second Backward Classes
Commission in 19787
Bots Dsnds s6ride SRS 1978 &° & &
Options :
Indian National Congress Party

b0 Aahoooh?

E( g

% TO8 r&0D ofiv &0

Bharatiya Janatha Party
RB&CH wdTe %«%

2. %
Janatha Party
mNme ;“v*
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United Democratic Party

SHrD0s BTrEAE b
4. % = 9

Question Number : 129 Question Id : 26449018552 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What was the mpic of Muhammad Igbal’s thesis that he did in Munich?

DNl a9d @ wodoP LES° $5 doros HogrR) Srerolomid?

o

Options :
Loyal Mohammedans of India

TBET IR DT IFEDBS hranbaines

The Development of Metaphysics in Iran
e = - D, ox 5\. ng\'“‘f\._s. 2

- 2oeR6* DoerHas) e

The Causes of the India revolt

. LREETE SSHIDrens) SeStmen
The meaning of Pakistan

:‘ﬂéﬁ;ﬂﬁ TCd) ©do
4. % T8

Question Number : 130 Question Id : 26449018553 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Who among the following is not appointed by the President of India?

% |Bolz0

Options :

2. ¢

Prime Minister

ESinabblalls

Home Minister

TEFO 0o\

Governor

g -
[gtsle)ls]
(==

Chief Justice of Supreme Court

-

RO (PR TS

S® 250D RBS VDO ?

Economics
Section Id : 264490611
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Number of Questions : 20
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Maximum Instruction Time : 0
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Question Number : 131 Question Id : 26449018554 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements 1s associated with Normative Economics?
Bod&&® O (HELS TO)ES ©8% FH08® eHnodosndod?
Options :

Finland is the happiest country in the world
(5505063 HTe=0l w¥od So& HEEDHE 3%

1. %
During COVID 19 pandemic. 4.62 crore Indians slipped into extreme poverty
=595, 19 057300 —eod 4.62 EEQ $008 =E&c5men m&[gﬁgﬁq;fa
) % BIHHS HEEPETS.
Wealth of the world’s rich men doubled in Pandemic
| x DERB TwoTS (HHoS0E FvSodhe KoBE BEo) wowos.
India should focus on skill-based education to reduce the rate of unemployment.
O weo = 2 Ml sricn e o.=
- g}éﬁ)ﬁsmﬁﬂfﬁ)n]ﬂ Den®0 éﬁciﬁwﬁ)u 8 SERE0 Sae30 Zinpdols] SEESE}E csej%ga:é.:g;i).

Question Number : 132 Question Id : 26449018555 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is called Gossen’s Second Law?

BoBar&S® APRS Go¥) Bokd JSr@orr HendntH@Hd 28?
Options :
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Law of Diminishing Marginal Utility
iﬁséﬁoé (B&resd derodo

Law of Equi-Marginal utility

Qararod (DAl dorodo
2. ¢ >

Law of Diminishing Returns

ﬁ i o D
- SoRedTre mm;oéo

Law of Satiable Wants
SoREY E°8%e drrodo

Question Number : 133 Question Id : 26449018556 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a rise in the price of petrol from Rs. 100 to Rs.120 decreases its quantity demanded from 50

liters to 30 liters. the price elasticity of demand for petrol would be

(¢Pen &8 8. 100 Koo 8. 120 & DBAE, o0 &Sroth HBErwo 50 Dy
009 30 DugH 378; B’ Skrord oY) &8 TE S0 dod?

Options :

"
1. % -

, % 0.5
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3. ¢

4.

Question Number : 134 Question Id : 26449018557 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The convexity of an indifference curve may be attributed to
a8 S B Hogrsd 80 608 eardosSly).
Options :

Increasing Marginal Rate of Substitution

F& Do (HEeyozch 080D

Increasing Marginal Rate of Technical Substitution

J& Dok FoT8E (Harhirmcd sarostL

Constant Marginal Rate of Substitution

. D3 [Bogindh earod Téw
3.

Diminishing Marginal Rate of Substitution

. ﬂ_zﬁ Boeomah aarod Téw
4.+

Question Number : 135 Question Id : 26449018558 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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When the output of a firm increases from 10 units to 20 units and its Total Revenue from

Rs. 800 to Rs.1200. the Marginal Revenue of the firm would be

2.5 ﬁoé 238 10 g Dood) 20 drdiD OARDD, o=l Jngo
ordho &r.800 Hod 1200 1BAB, © Hoy Bar08 vwraho Jod?
Options :

Rs.30
% 8230

Rs. 40
5 ‘{,53?. 40

Rs.50
&, 50

3. ®

Rs.60
&oe. 60

4. %

Question Number : 136 Question Id : 26449018559 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is NOT a feature of perfect competition?
208 Q&° S0 E oEno =08 287

Options :
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Large number of buyers and sellers
28 Pogre® Sofireonrd, ednoned
o o ™~ = —

1. %
Buyers have complete information about the market
- EPdoften e B’JJ”E@_&%JJ oBot) P8 Jdredo dotwob.
Product differentiation
N 2DSro
3. — = @
Uniform price
e S el

Question Number : 137 Question Id : 26449018560 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kinked demand curve is associated with

$0¥8 &sroll X0 £08° wdnobosndod.

Options :
Imperfect Competition
. @ﬁof.g;ug e

Monopoly

B Soro
2. % e H
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Monopsony

. = @é}éﬁom‘éa
3.

Oligopoly
HDBE Foro
4. ¢ LA

Question Number : 138 Question Id : 26449018561 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Quasi Rent 1s equal to
2B oo JrNDHNd -
Options :

Average Revenue — Average Cost

. B[Ren oend - [Nen é&dﬁ:o
1.

Total Revenue — Total Variable Cost

Q0SB0 SoECho - IweEo H8 Prabo
2. = = 2

Total Revenue — Total Fixed Cost
Swogo Tl — Awdo %‘.\6 é@dﬁ:}o

3. %

Average Revenue — Average Variable Cost

[ orod - Jén S8 aﬁaﬁfoo
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Question Number : 139 Question Id : 26449018562 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The market value of all the final goods and services produced in a year including net factor

income from abroad 1s called
DRz HHod) aﬁz:ﬁj QLS oeBTre errchos® Rode,

% 3o 53@“6055 asd DHhdd o)
©o8d dDew, B E’;Uvawﬁaa Densith zee a’aﬂa':na?&@

Options :
GNP
. D .
1. ¢
GDP
NNP
, 9525
NDP
Lx OSBD
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Who among the following has stated that “Supply creates its own demand™?

‘R8P ol Srod Aol oo ".\g“ nod” © &od TBS° QBT T0?

Options :
J.S.Mill
| % B.0B.06

JI.B. Say
=
, o BAR

J.M. Keynes
, & 320 é@)

Alfred Marshall
| eSRE sr5S

Question Number : 141 Question Id : 26449018564 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The income of a consumer has increased from Rs.5000 to Rs. 6000 and subsequently his

consumption also has increased from 300 units to 400 units. What would be his Marginal

Propensity to Consume?

DAGFHTHE wecho e, 5000 So0d &x. 6000 2 8h0dH. JDBorr 8l
D@0 B 300 C‘ISJJ”E}E.H; Hoo0d) 400 Gﬁ:}ﬂgjégﬁ} 28008, w8l darosd DTN

(08 D08 soiwod ?
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Options :

0.1
1.v¥

0.01

10

0.9

Question Number : 142 Question Id : 26449018565 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Compute the value of Multiplier. if MPC = 0.8.
20.9.%. =0.8 ©ows Hnto Deodkdy KRS

Options :

b-J
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5
4. ¥

Question Number : 143 Question Id : 26449018566 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The essential function of money according to Fisher's quantity theory of money is
A6 (B Hoeesh drrodo @HoBo, @ (Bio ©SHBDLS DY SETS R
Options :

Medium of exchange

L@ ALV v o) a’asbeﬁaa’.uo

Measure of value

5, x Dend Foiresdo

Store of value

- Densd Qe

Standard of deferred payment
, TonT® 390y (Dauero

Question Number : 144 Question Id : 26449018567 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the mnstrument of Monetary Policy

(855 Do SR 1HBoSod.
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Options :

Public debt
(230 Boeeo

1. %

Public Revenue
, 23p& ool

Tax
- ﬁé:cl
Bank Rate

S
s v THOE Bew

Question Number : 145 Question Id : 26449018568 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following types of inflation. paper currency becomes worthless?
208 & Lgﬁﬁsaag;,_m 8508° %8 58Y), Dend TIBE $EE08?

Options :
Creeping Inflation

- L& @Sﬁaﬂﬁmo

Running Inflation

BB (BSreneso

2. 8
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Galloping Inflation

RTeT) SFeneo
oo

Hyper Inflation
Elalet @Ssée‘gmo

Question Number : 146 Question Id : 26449018569 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Reserve Bank of India was set up on
FBBAD Bestrsod IGPH rhosnliod?
Options :
April 1. 1935
L& S 1, 1935

March 1. 1935
S5y 1, 1935
2. % e

April 5. 1931
QS 5, 1931

3. %

March 5. 1931
EﬁJUEL‘} 5, 1931
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Question Number : 147 Question Id : 26449018570 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following items 1s recorded in the current account of a country’s Balance of

Payment?

% 208 womed® D& B4 Do IFho SBETD TrEe® IS DchnB0s?
Options :
Indemnity Payments
03] BDopen
L.
Borrowings
, % Socaeen

Investments

énothen
3. % -

Forex reserves

DB S8% (55 Deren
4, =

Question Number : 148 Question Id : 26449018571 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the model which postulates that economic growth occurs in five basic stages

8% HB ad [EHE 586° arH&Hos0 Srdod ST HBoKod.

Options :
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Harrod Model
FEE IS

Domar Model
, x 808 rES

Keynesian Model
, SROHT &S

Rostow’s Model

, v 5T 366

Question Number : 149 Question Id : 26449018572 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the given list. Identify the state with the highest population density in India
according to the 2011 Census
2011 argr B (Ho°80 wrod 5D adaro(Bd SOAN oo{go

L3 i [=3

Options :
West Bengal

D ZJorred

Bihar
, v D8
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Uttar Pradesh
3 % ﬁéé @d%

Kerala

Question Number : 150 Question Id : 26449018573 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who has been appointed as the vice-chaurperson of NITI Aavog from May 20227
D8 (NITI) 8d@ri% o 2022 $od Jahosndd VBB I58?

Options :
Rajiv Kumar

% i S %55

Suman K Bery
) soe 8 38

Arvind Panagariva

, x ©8Do8 IVrdAD

Rajiv Ranjan
4 % T°8S Soms
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